Name Date

1. Count up using the arrow way to complete each number sentence. Then, use coins to
check your answers, if possible.

a. 25¢ + = 100¢ b. 45¢ + = 100¢

+5 +
25 — — 100

c. 62¢ + = 100¢ d. +79¢ = 100¢

2. Solve using the arrow way and a number bond.

a 19¢ + = 100¢ e

b. 77¢ + = 100¢

c. 100¢ - 53¢ =
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3. Solve.
a. +38¢ = 100¢

b. 100¢ - 65¢ =

c. 100¢ - 41¢ =

d. 100¢ - 27¢ =

e. 100¢ - 14¢ =
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Answer Key

1. a. 75¢;30¢, 70¢ 3. a. 62¢
b. 55¢; arrow way answers will vary b. 35¢
c. 38¢; arrow way answers will vary c. 59¢
d. 21;arrow way answers will vary d. 73¢
2. a. 81¢ e. 86¢
b. 23¢
c. 47¢
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